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fAdw :

Instructions :

1. AT STRYTRIAT T G |
IR SW-ReTH H & forg |
Write answers in the answer-sheet only.

2. AT IS FEATTRIOT HRGheid SEan |
ST Hehel T &, T Wt e o ITR Wehd | € T |

Answer all questions in Sanskrit unless instructions are given otherwise.
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T IRH-TF H U’ G@UE § |
There are four sections in this question paper.
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G TICHRHET (W § TEHIF H1)
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(TSI — STaETYT Ue Whd Hifecd-uiead)
Reading Comprehension & Introduction to

History of Sanskrit Literature

FRISAZNT: (T TAH AAEN)
Metres and Figures of Speech

Qug: & (Section A)
SUTSATIN — HASIAY
iy — Srasre

Unseen Reading Comprehension

1. oTeifeiEay STIeasgd ufae AeauyI- Wahd- 3R -

TG FHT ST S Ygah T T U o 3T Wepd | 11970 ;

15 gt

15 stz

40 + 10 = 50 31ZT:

20 18T

15 g

Read the following two passages and answer the given questions in Sanskrit :

()
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Her: AT

Tt ST WRRAT TATgE TR ST A Sact aHiy va W | AEEET, St 4w

AT ST 9aifd @81 TR U9 Wald | [ g1 Fd: Hiaasi Teaamy o
TR | TR Tamty v g TR oy ST 99 TR TR | Wafd |
T SFeTts T STryehRIe—Tat I 37 Ud 17 ol 90 | Weaed Uiera-ai |

2
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@)

usAn

(31) UHURT I | %x2=1
UF VI H I ST |
Answer in one word.
(i)  SEE S e wafd ?
(i) S wiau % ?
(&) Yo IR | 1x2=2
ol R | 3T ST |
Answer in a complete sentence.
SFT; T HIROT T ST A 2
() TSI ITRA | %x4=2

FuTfEel SR T |

Answer as directed.

(i) Rufay ere vee fooot ey ?
(i) wept s A wguE e ?
(iif) “TEr I s 6 2

(iv) “ToRy’ o/ & aid: 379 uge: ?

T oryese:

TR AT faeRoT IR, A HSURe e 9T O | | 99 Wag ar ar S
YEET AT Y AN HcTeTol TSI | STRHRR A qead MERatd a5ad @+
EEILH nwmawﬁﬁamwﬁa{mzmmﬁrﬁﬁzﬁ
TERed STaar war waH Magata | gisf wata o e (et FsE ag e
FU | F & S a1 ] FHoamaarast:, R JraTe: | yHE g
T ST 16T UE Safd | SOl W U WAt | A S g S
T WYl dE a9 A AW FEGUrR | Teds I Uikl N e | St g
e Id W e g I v | Al st ean wred uRgdard § O SIS
ARG T Weala | 376 U & WY T NI WHE! 7 S |
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jeHT 1

(20

@)

()

®

UHTSH A |

T 35 ¥ 3 S |
Answer in one word.
(i) wd=iFaTYR: ?
(i) wver v wivEe ?

USRI IR |

T TR W SR AT

Answer in a complete sentence.
() =T e e 6 2

(i) ST TR % e T |

qUITS9M 3E |

e 3T AT |

Answer as directed.

() IRefe WAk aw flewar o T 30 FeAmTas e wgE ?
(ii) WW%WWWO

T DT Fl SULHI T WEBAT T3 |
T ST & oT0 ST ¥V |Ehel | [ATGT |

Write a suitable title for this passage in Sanskrit.

Ix2=2

2x2=4

I1x2=2



Eug: & (Section B) 15 1T
HEFAT FEATIHHEY
A W TS 1
Writing Skills in Sanskrit

2. WSS Sraawghar e diaiaal wul R forad 1x10=10
TSI | ST Wbl Y Spiieiiad e sl 0 ol

Complete and rewrite the following story, taking help from the words given in the
box below :

HUT

T, ATl @Rl o 9 ST | A WeERdr: W%WWT

T TR eI 3T a?nw\mncehm“*@‘qukmmmmm%wﬁsﬁ
AT Gy e @ (e W Ty | 87 Heid T e | fererd el s
Hieq Uh RRMAFUTA. oy G9HI TG fasefd, o amme voregi 9 % | Ry

FEEY af WHEs | 3w dehae fsrq FR T (p) | Toreg: e e e de e W

3TTaT: Mﬂﬁzumwa{mﬁqé@wmﬁww | e ST TarERiy W
mzammming“@“wmlmzmsqaﬁmz |
Té@:m%zgﬁ#f@wﬁmjmﬁmaml

HSTRT
ST, SR, R, IR |, 9, T, e, i, e, weon |

3. TSI TR GhE TR auiH S h yeey ary $ed | 1x5=5
TS § STRT 1 YR ARG 1 A0 Ehd % e 9re § I |
Write five sentences in Sanskrit describing the bank of a river, taking help from the
words given in the box below.

Hooar

W, STT:, FIAOT:, ForTH, T, STerm, axf, forerer:,
AT, FoAY, W, GITHEHRE |
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Tgug: 7T (Section C) 40 + 10 =50 T
USRI — ST WP e T 7
afSAie — SEET U SRR ifee-uREa

Reading Comprehension & Introduction to History of Sanskrit Literature

TifeIRad TR, Wi, et ¥ uiew NEamN S STRd

TeTeTEra TTier, TeIieT qe A1EiT i Ugeht [9T TTT U 3 SR SeAd | Qi

Read the following prose, poetry and drama passages and answer the given questions
in Sanskrit :

(%) e
I WREt wY TER dewyem | wy Ffivedurie cvaefe Gt e
fFeTsis o | TR Fepad hTet SYIRIETATATY e JEIH | FUETE ARIs HEIvaH, aue
Y ACATAUETRRT: Y@ AT | ARRIEAT Tl IR | SeuTaeEr -
o TS SavEEm 17 ENEHERE: WA - A, wang w=E | fey
TRTIEAY Ay Eeied Joq | A9 SRl ey, 9 5 9ar

FRreTe ey W& RHe 1”7
L LEEIE
(37) THISHA I | %x2=1
T ¥ § T ST |
Answer in one word.
() = e IR e ?
(i) o Tt oae: ?
(F) YoTaERN 3R | 1x2=2

U7 TR | 3T ST |

Answer in a complete sentence.
(i) <iEehA o e ?

(i) STETUHEHERE: T warad ?




(¥)  FiEem 3R | S x4=2
T 3R ST | ‘
Answer as directed.

(i) “Heq 3T FRamn FHY e ¢
(i) “fomy@:’ orey fereimae Ry ?
(il) ‘3T 37 & T 7
(iv) “femfv o I feetaory 2

(@) uern:

‘TRt {arem, Tafathe sremErEn |

farore: wafast gaTst oyl grEafvgarmy 11

EE

(37) THURT IWA |
T 9% H A< AT
Answer in one word.

(i) Toremr s wRH fatatieg ?
(i) erafvzaTt guvi fem ?

(&) qOTEEREE 3 | 2x1=2

Ut AR H IR S |

Answer in a complete sentence.
(F) TATEIRRRE | 1x2=2
ZpEnfeeT 3T SN |
Answer as directed.
(i) TEaEn: & @y ?
(i) STET I 1 (orArHaEH ?
(M A
GEE L (TITeeT T ST SR TS T SR ?
(o)
3T RITEEUER A T e | (Slaeage) U a9 eaed
forean yomTEt: |
EA-STRT  : HOAIIIA SIS TT: |
STt DU TR | (Femeay TR Sean) KR T heeeaE
TeeRTARs T ° g |

49/1 7 [ P.T.O.
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g
(37)  UHIHA T |
% O 9 3 AT |

Answer in one word.
() o FRguh ?
(i) orEwl ord 5 RN ?
(&) Yo SRd |
) 9ot STRT | IR ST |
Answer in a complete sentence.

AR, STHARAIHR: . 7

(T FAHIIM IR |
TS A MY |

Answer as directed.
() IS TR W@ ?
(i) cerferTe o faemg e ?

IS 7Y TE Ao |

v =1 areli @ fherm SR |

Match the words with their meanings :
ST et

(31) ST (i) FH

(¥ FEERA (i) =RAET

(@) frefastemg (i) e

(® gwrg (iv) A=A |

T ST e e |
Eifea vel % TR W e Fmivr ST |

Frame questions on the basis of underlined words.
(i) e TuEEn |

(i) oreEH AT Ty |

(iii) sraf=T ASTAFIIRIEN |

(iv) AR T |

1 ,_
2x2—1

2x1=2

1x2=2

1x4=4
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T iEauTaTeiar: R yfd Fes arIseeradl 9 ; 3+3=6
frefeiae gt et 9 Feoqen | U 1T vt gerEer § Remegid wi :
Fill in the blanks in the following two explanations with the help of the words given

in the box below :

(a1) ot =nferai = gXagaRad WE |
Sfereran Yo dieal s gaasqd |
wrarel:

k2 H L () Hﬁ%ﬁ’ﬂm el (ii) S | U (iif)
ST ™ (fyy JOoPUl ST () ™ TR ()|

(7 zeifa wioRrT TR gEsd |
TER o = wigay oo |
wraret:

TFET @ Wﬁﬁmﬁ?&TﬂgwﬁWaﬁmﬁazw.
S B (5, T, e FE W Ty 7, @ g wwf
o TR el | O i T T wReor S |

A

TEEY, STAHTY, T, AL, Y, FET:, Ve, FU, Wel:,
9, Heread, T |

STfeEaar: yo®ar: Saaar: Ryl Ho : 1%+1%=3
frfeRas ST Yol % st | e vRa :
Fill in the blanks in the following prose-order renderings of the two verses :

(a7) g =1 gl ava Shame fadifaeT |
TR TRy i wameRt gt = 11
Fr=a:

AT T () TS TR gy dEA A T o e
T qaATeRT T |

() o TEt Ty AR ARSI |
e I gHd O o (1
A=
Ty () ﬁl(ﬁlliﬁ("l{ﬁﬂaﬁ I (?T?]qu) (ii) =y (iii) for |
T |

9 [P.T.O.
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TSI 3T |
TS ST 3T ST |

Answer as directed.
(37) U forarae = ferga |
Fal ue s 9T |
Select the subject and the verb.
() ‘o Siamnt WieRsy
(i) T T SHHO A I 1

@ oo foa |
faremer o8 gy |

Select the adjective.
()  TEdT SRS WA FEH 1’
(i) varE: YoMmEEY yEEmE SAE 1
(W) iUy FEeHaaaAaya- ¥ TIF ?
sreiferfiae dfeaat @ Y@nigsa e ug e o vge gu e ?
In the following lines for whom the underlined pronouns are used ?
() Torodie fovargunst a8 wHRR 3 |
(i) 3T XTI TR faetan WAt T |

() erenfeiEmdcmsat < T ude i uear: gemnieus faw foe
TteTEa gl § | HIR: T “TdE’ Ug) o S S g o
Select and write the synonyms of “Ai=:” and ‘9’ from the following lines :
() O PR SR 1
Gi)  wggseiT fref o

(T HHoRE?
FH freg FE @ e ?
Who is saying this to whom ?
(1) “IFe TGRETE SR AT 1
(i) ot T ! TerRwTeRT T a9 T 17

10

1+1=2

1x2=2

1+1=2
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(29)

C

(30

C

sTefeREderERTY FE HEa AW fofEd
FreTeTad sEet & HE U ST 1 A e

Write the names of any one work each of the following poets :

RS, S:, TEN:, TRREE:, IRNHE: |

ST VA1 SRIBMR 1 To7ad :
FrefaRaa Teeetl % orasi & A v
Write the names of the authors of the following works :

TSN, SEEEH:, TaeHosi, ARy, STRAHART |

Tug: ¥ (Section D)
BRISATRI:
T A S
Metres and Figures of Speech

TR 3T |
7Y % 3T I |

Answer the questions.

(i)  TTor YT . W/ET: 7

(i) wferer 3 W o 2

(i) Ty 7% ‘o Ul o T A ?
(iv) wE=IdoTshTar WieeRot S FoT: ?
TR TT: Y

TrrAferfas afedred ot i

Complete the following definitions :

(i) T ... Mttt I

(i) AFHFTS....ooue. T TH 1’
............................ [T e |
(i) GEARER oo TRATeRRTE, I’
11

1x5=5§

I1x5=S§

20 [

1x4=4

1x3=3

[P.T.O.




(§) omifarEquesl 6 3 7 - 1x1=1
frfofad iEd 4 FA A DT ?

Name the metre in the following line :

giEeIoae veela 9= 1

@ mﬁf@aﬁ:mﬁmmsz@@a: 1x2=2
Fermfetfiam o & forelt we B o1 ST fefae

Write an example of any one of the following metres :

YT, ITSI: |

12, (37) SmifcRaamTy STergRIvT TR I : 1x4=4
et STeTgRT i URETHTE o7 SHif :

Complete the following definitions of the following figures of speech :

() T AT o X

(%) orifeiaaa: HEteewe ST SawRY fore : 1x3=3
frefeiaa § e s STeieR Sl SRR Fefie -

Write an example of any one of the following figures of speech :

STTITE:, TFHT |

(@) SrfafEadfeay & TASHRr ? 1x3=3
Trteriae dfedal § B ¥ TR E ?
What are the figures of speech in the following lines ?
() FAIRARAEE: I
(il) “HEPeTd: HEAEFRII:
(ili) “EmTEOT qEoT ¥
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